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Where is the Headquater of SAARC ? 1. 9% (SAARC) &1 JE&Ied Fel & ?
(A) Manali (B) Kathmandu (A) AT ®) 760{
Bangkok (D) Jakarta © Fere ©) /s

. . /s
2. United Nations Organisation was formed on : 2. Y TsgH= Ea| AT %S §'§ ?

(A) 26 October. 1945 A) 26 IHRI/1945

(B) 28 Octob

(C) 26 November, 1945 ©

(D) 24 October. 194 ! 94 ST, 1945

@),

/

3,/ Twttaufrgadwd?

3. Tehri Dam is built on :

(A) Bhagirathi River (A) YRt 75 |
(B) Ganga River (B) T T R
(C). Son River (C WATEW

(D) Yamuna River ©) T W

4.  Raja J.Chelliah Committee is’‘concerned with : o7 . S Wi & ey e H fema ¥

(A) Agriculture Wealt A) ?ﬁ'ﬂ'ﬂqﬁ

(B) Indirect Tax
(C) Tax Evasio

{D) Tax Reforms

term in the series 84, 86. 81, 91. 74, | 5. W & FI ITA

18,

84, 86, 81, 91, 74,

(B) 100

(A) 166

(D) 158 ©) 148

23-Geology 3 P.T.O.



10.

In certain coding method. the word QUESTION
is encoded as DOMESTIC. In this coding what
1s the code word for the word RESPONSE :

(A) OMESUCEM

OMESICSM

grandson of my mothey,
to the girl ?

(A) Father

(C) Husband

{D) F’a,ther-in-law
N

‘\,

N
\\

\\

Fingd the word which best expresses the méa\ning

of the word ‘FATAL'. ‘

N\

hY

(A) Deadly Serious

®)

(© ()

Dangerous Grievo/u's
I

/

Find the correctly spelt word :

{A) Buiscit Buiscut

Biscuit Biscit

©

Write antonym #f ‘ARTIFICIAL :

A (B) Natural

(© (D) Solid

23-Geology
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yL

et e fafy ¥ sl ¥R QUESTION #)
DOMESTIC & &1 ¥ %re fifan w1 31 5t Sifen
#, 9= RESPONSE 1 8 S 2,

(A) OMESUCEM
(B) OMESICSM
(C) OMESICEM
() OMESISCM

WY A &g, ' 9% wrsw! B At & 9E W et

€ AN+ TTEH A T Ty §2?
a) fua B) TR
() dfa D) "YW

‘FATAL Vs &1 I3 319 s 9en I, g0 :

(A) Deadly B) Serious
(C) Dangerous (D) Grievous
\\

AN

N

ﬂz%d'a\? e o ey

(A) Buistit (B) Buiscut
(C) Biscuit (D) Biscit

‘ARTIFICIAL’ W& &1 fafe : .

(A) Red (B)

(C) Truthful (D) Solid *™



11.

12.

13.

14.

15.

16.

The outer part of the earth is called :
(AY Core (B) Crust
(C) Outer Core (D) Mantle

The process of breaking of rocks to smaller
particles and decomposition of rocks is called :

(A) Erosion
(B) Breaking
(C) Weathering

(D) None of the above

The largest as well as the deepest ocean is :
(A) Atlantic ocean (B) Indian ocean
(C) Pacific ocean (D) Arabian sea

Which of the following is the oldest mountain
range ?

(A) Aravalli (B) Vindhyan
(C) Satpuda (D) Himalaya
Who developed the theory of Isostasy ?

(A) Newton (B) Dutton
(C) Morgan (D) Tyrrell

In which crystal system all the three
crystallographic axes are of equal length and
mutually perpendicular :

(A) Tetragonal system

(B) Orthorhombic system

(C) Cubic system

(D) Triclinic system
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17,

18,

19.

20,

21.

22.

23.

Which of the following mineral is a pleochroic
mineral ?

(A) Hypersthene (B> Quartz

(C) Microcline D) Albite

Which of the following minerals has hardness
5 (five) on Moh'’s scale 7

(A) Gypsum (B) Calcite

(C) Quartz (D) Apatite

Which of the following is green coloured
mineral ?

(A) Olivine (B) Calcite

(C©) Muscovite (D) Galena

Which mineral has chemical composition
CaCO,?
(A) Baryte (B) Dolomite

(C©) Gypsum (D) Calcite

Which of the following mineral belongs to mica
family ?
(A) Augite (B) Albite

(C) Biotite (D) Hornblande

Which of the following mineral do not belong to
Pyroxene family ?

(A) Hornblande (B) Hypersthene

(C) Augite (D) Diopside

Which of the following is a plutonic rock ?
(A) Rhyolite (B) Basalt

() Marble (D Granite
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24.

25.

26.

27.

28.

29,

30.

Which of the following is a Volcanic rock ?
(A) Granite (B) Basalt

(C) Gabbro (D) Gneiss

Which of the following is not a metamorphic
rock ?

(A) Schist (B) Marble
(C) Quartzite (D) Greywacke

Which of the following is a clastic sedimentary
rock ?

Chalk

{A) Limestone (B)

(C) Arkose (D) Marl
“Grit” is a Variety of :

(A) . Sandstone (B) ILimestone
(C) Granite (D) Basalt

Which of the following is not a primary
sedimentary structure ?

(A) Bedding (B) Cross bedding

© " Ripple marks (D) Concretions

“Chalcopyrite” is a ore mineral of :

(A) T.Lead (B) Copper

(€) Zinc D) Gold
“Zn8” is the chemical composition of :
(A) Galena (B) Chromite

(C) Sphalerite (D) Zincite
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31.

32,

33.

34,

35.

If sandstone got metamorphosed then it convert
to:

(A) Quartzite (B) Marble
(Cy Gneiss (D) Charnockite
“Rampur - Agucha” is famous for :

(A) Copper deposit

(B) Gold deposit

(C)  Tron deposit

(D) Lead - Zinc deposit

Gold deposits are found at :
(A) Zawar, Rajasthan

(B) Kolar, Karnataka

(C) Panna, Madhya Pradesh

(D) Chittradurg, Karnataka

“Sukinda” in Orissa is famous for :
(A) Bauxite deposit

{(B) Iron deposit

(C) Chromite deposit

(D) Gold deposit

Which one of the following is oldest ?
(A) Dharwar Supergroup

(B) Delhi Supergroup

(C) Vmdhyan Supergroup

(D) Marwar Supergroup

23-Geology
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86. Rocks of Guddapah Supergroup are exposed in :
(A) Rajasthan
(B) Gujarat
(C) Maharastra
(D) Andhra Pradesh
37. Which of the folowing Group do not belong to
Lower Gondwana ?
(A) Talchir group ®) Rajmahal group
(C) Damudagroup (D) Panchet group
88. Jurassic system rocks are well exposed at :
(A) Chittorgarh, Rajasthan
(B) Panna, Madhya Pradesh
(C) Kutch, Guyjarat
(D) Latur, Maharastra
89. Deccan traps are mainly composed of :
(A) Granite (B) Sandstone
(C) Limestone (D) Basalt
40. Siwalik supergroup is known for :
(A) Mammalian fossils
(B) Plant fossils
(C) Graptolite fossils
(D) Gold deposits
41, Which one of the following is a Brachiopod ?
(A) Arca (B) Pecten
(C) Terebratula ®») Murex
23-Geology
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42,

43.

44.

45.

46.

Which one of the following is not a
Gastropod ?

(A) Rhynchonella

(B) Natica

(©) Murex

(D) Turritella

Ammonites were abundant during ?

(A) Cambrian (B) Ordovician

{(C) Permian (D) Cretaceous

Trilobites became extinct during :

(A) Cambrian

(B) End of Palaeozoic era
(C©) End of Mesozoic era
(D) Ordovician

The fold in which the axial plane is almost
vertical is

(A) Isoclinal fold

(B) Recumbent fold
(C) Symmetrical fold
(D) Overturned fold

Fault in which the footwall moves downwords
with respect to hanging wall is

(A) Reverse fault

(B) Normal fault

(C) Thrust fault

(D) None of the above

23-Geology
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47. Which of the following mineral has maximum
hardness ?
(AY Gypsum B) Tale
(C) Quartz (D) Fluorite
48, The oldesterais:
(A) Precambrian (B) Archean
(C) Palaeczoic (D) ~Mesozoic
49, The “Life less” erais:
(A) Archean (B) Palaeozoic
(C) Mesozoic (D) Cenozoic
50. “Jurassic’ period comes under :
(A) Archeanera
(B) Precambrian era
(C) Mesozoic era
(D) Palaeozoicera
51. The earliest rock formed on the earth crust
was :
(A) Sedimentary rocks
(B) Igneous rocks
(C) Metamorphic rocks
(D) None of the above
652. Diamondiferous conglomerate beds are found
in :
(A)  Delhi Supergroup
(B) Aravalli Supergroup
(C) Marwar Supergroup
(D) Vindhyan Supergroup
23-Geology
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53. Which economic mineral is found in Gondwana
Supergroup ?
(A) Lead - Zinc ore
(B) Copper ore
(Y Gold ore
D) Coal
54, Which mineral is not found in Aravalli
Supergroup ?
A) Coal (B) Leadore
(Cy Calcite (D) Copper ore
55. Which crystal system is also known as Isometric
gystem ?
(A) Tetragonal (B) Orthorhombic
(C) Cubic (D) Monoclinic
56. Diamond and Graphite afe example of
(A) Isomorphism
(B) Pseudomorphism
(C) Atomic substitution
(D) Polymorphism
57. The Phenomenone of double refraction is shown
by :
(A) Calcite (B) Quartz
(C©) Mica D) Gypsum
58. Plagioclase show which type of twinning ?
(A) Albite (B) Pericline
(C) Carlsbad (D) All the above
23-Geology
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59.

60.

61.

62.

63.

64.

65.

Which ofithe following is fine grained rock ?
B)
D)

A)
©

Shale Sandstone

Grit Granite

Which of the following is highly coarse grained
rock ?

(A)
©

Granite (B) Pegmatite -

Gnelss (D) Schist

In Rajasthan “Lignite” deposit is found at -

(B)
(D)

(A)
©

Udaipur Jaipur

Barmer Dungarpur

The Volcanic rocks of western Rajasthan is also
known as :

(A)
©)

(B)

Erinpura granite (D)

Deccan traps Malani rhyolites

dJalore granite

Which mineral is not found in Rajasthan ?
(B)
1))

(4)
(&)

Lignite Calcite

Petroleum Chromite

The Aravalli Supergroup is :

(A) 500 million years old

(B} 1000 million years old
(©) " 2500 million years old
(D) * 3500 million years old

Which of the following is not a rock forming

. mineral ?
(A) Quartz {(B) Felspar
{C) Biotite D) Gypsum

23-Geology
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66.

67.

68,

69.

70.

©

“Rockphosphate” in Rajasthan is found at :

(A) Khetri (B) Jhamarkotra

(C) Bijoliya (D) Zawar

Which of the following is not a Plagioclase
felspar:

(A) Albite (B) Oligoclase

(C) Anorthite (D) Augite

Which mineral is having ‘Bladed’ shape ?

(A) Kyanite (B) Biotite

Asbestos (D) Chromite

Which one of the following is a foliated rock ?

(A) Marble Charnockite

©

(B)

Quartzite (D) Mica-schist

Which of the following is not a rock ?

B
D)

(A) Migmatite Dolerite

Muscovite Dunite

©

-00o0-
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